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The figures in the margin indicate full marks
for the questions '

1. Answer the following as éirected (any ten) :
1x10=10

o P et S T it (R e web) -
(a) Write a unit matrix of order 3 x3.

3 x3 &FIT bl GFF (e foran |

(b) If the two rows (or colurnn.S)g of v‘a
determinant are identical, the value of

the determinant willbe _____ (zero/ one)

(Fill'in the plany
o A 51 ) (71 9) g

, Us:
ﬁ*ﬁammmm:am ('I;"/‘Q?F) : '@, A
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>= &a.annmmmzn - functions are

 functions are differentiable.
e ( Write True or False )

mm?l FoH, TR T |
= (79 @ aﬂg o )

(d) mw (AB) = B’A’ correct?
(AB)’ = B'A’ %% T4

(e) Every homogeneous function s

homothetic, but all homothetic
functions may not be homogeneous.
( Write True or False )

T A T A 7, e e A
A A TR TZAE A | |

()’ Define idempotent matrix.
Ao (Ao e i |

(9) Having an objective function with two
 explanatory variables and one equality
“constraint, the order of the second-order

v._,”_coann& Hessian &oﬁgggﬁ §= be

mw\( pccm

continuous, but not all continuous

(1% Sa_ﬁ@ﬁv_

1‘.]1].1
o1 wfem FHL T
r A
(i) 2%2
(i) 3%3

(ifi) 4 %4
(iv) 2%3

)
&
() Ulisa unit matrix, ﬁsg 51 will g
; %Ezaﬁ%ﬁaﬁ @B 517
(i) a triangular Bma.an \ .ng
¥ (i) a unit matrix / 5_9 5.«& :
% (i) a scalar matrix \ o] e %ﬁa
(iv) a vector / x@;ﬂw_
( Choose En noﬁ._nnn gwéan )
( %_ aﬁ&_ kg, e )
22A/1098 3,: s0ver)
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13

e ~ The solution of a differential equation of

first-order consists of
A -] ] IGRAN FRI AL [P

,,_.”;E ooBEoHobg solution - / o_m.oma

BRALIEIC I
(i) particular solution / Re® uﬂ:ﬁu
(iti) - Both: (i) and " (i) / (i) &< (ii) mgﬂ
(iv) trial solution / *3d WA .

( OSoomm the correct answer )

A@gg%wmﬁv

(m) Define saddle point.

opfiel fmga Siget fran |

?», 3 UpmmnmSoo nnsmﬁos is used in &monmnn\ :

. ooaﬁsco:m time analysis.

i ,._,_..mﬂ\%m‘ R RepETs (o ﬁﬁwﬁ ﬂﬂ_

, Mm | ( Choose the correct option )

«_”ﬂmovﬁmd model is very appropriate for

T R R AR
(i) agricultural products

e e

22A/1098 -

( wa Rescs) R B )

(Continued)  22A/1098

(i)’ Sasﬁ:& 98: s
Rcniedoiekiel
(tii) wQﬁp (i) and @ \
(i) ST (i) A

(iv) service
ﬁ%@«%

H Choose Ew

(c). Give an mnoﬁo:.:o”
Lagrange multiplier.

waNg BTPI ﬁm_wﬂ_sﬂ IR IR
@ Define vector mvmno s:& oxmBEn..._m.
. gﬂ%x@mﬂ%ﬁmﬁ_ &
1 \ \HEE over)
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m.Em the nog of the following ana%

St e

0j] M,___.H,Unmbo 58&05@3 al equilibrium.

_ﬁu&%aﬂm‘vwﬁﬁ

e #
(g .mmmu Emﬂmnw of the following matrix : b
i 3
P -5 -3
2" |15 9

@

() Define homothetic function with W 8

~ example.
TR T IR R T o

3. >um§ﬂ. @B m::bﬁbm questions (any MQ&

%@%ﬁ@%aﬁm@ ke
(aJ Prove that
;.,mﬁ.ﬁ,m :
_ N(AB) < N(A) N(B) -

{7

, E& - Evaluate the follov, _,

G Scanned with OKEN Scanner
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(g m,ua the extreme <:
function :

e 4G TE=ER 549

NHHN+ € +

{d Find A2-5A+TI
matrix :
B2

{e) Determine whethex
function is homoge
degree?

MW, EEZR
MF&EVW
,Btuowm Over)




o AW @
W, (o

(g Given X'=[x x,

x : i
L 3 ]: Wr1 :
column. vector X 4y, 4 te out the |

: N find xx’,
WX =l Xy x| o
_ 2 R
@sXﬁUsﬁﬂTWm'ﬁcﬁwﬁsw'
(W) Prove that the Cobb-Doy,
- function Qs AKOrp

zfmwmﬁa +B=17, o038 34
- T T Q= AK B
T BT T g |

4. z._é‘;;Wer the following questions (any four) :

g e | T 10x4=40

(@ Solve ~ the - following simple national

~ lcome model using the method of

) Cramer’s  ryle and (i) matrix
- Inversion, - : 5+5=10

.;‘:,2_2A/1098 ( Continued )

+If total cost  fu

glas Production - . :

I
|
|
‘{.

: then find the equi
equilibrium prices.
7 RSt 71 Seetred
B =63 ‘.—:491

(c A monopoli_st produ
~two different plants anc
(TC) function of the tx
Byt !
TG =10-2(

TC, =15-6

 22A/1098 Turn 0]

(3 Scanned with OKEN Scanner



(@

{10)

If the average ¢ Tevenue (AR) function is
. _,@.@n by AR=50. =2Q, then fing—

@ profit maximizing outputs;
,E Maximum profit.

e

m*MHHO

TR REeR B R s Sl

ﬁg»mﬁﬁowﬂlﬁg
Bzwo,wotrom
IC, =15~ -6Q, +wom
Hos T SR AR=50_ -20%, (s
) = = = (nﬁao_.mﬂﬁﬁ.
(@) = =S g =7 |

For each Flx y)=0 use the implicit

function rule to find =& dy . L
- S+5=10

ﬁ@@mﬁﬁmﬁﬁﬁ%ﬂaﬁgﬁw
manoﬁﬁﬁWﬁﬁﬁ“

B Flxy=y-6x+7=0
(@) F{x, y) =3x2 +2xy+4y® =0

Solve

() ‘the  following &moasm& _
€quation :
©oTS il SR SRR ST 37
+4
= y=12, y(0) =
02A/ Homm, ! e \Oozm::,mm\

T A R A

@

(h)

| 22A/1098
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(11)
Solve the ”.ocos.sm mnz order difference
equation : A

Gﬂﬂgmﬁrx.a%ﬂﬂgg

Qﬁﬁlwm& w .SQI\ :

The consumer’s :qu ?bnnob and

budget constraint m:w mﬁmb as follows :
U=18xy+9y m:Eonﬁ to mH+m® 15

Find out optimum vﬁu.nbmmm of x mbm
which will maximize the ﬁE&Q of the
consumer.

oo SHiae ﬁm -TF Aﬂw mﬁl
TR oo =g -
U=18xy+9y M_.m&mmw mHJ,w@ Hm

Soierer Tecaifer ﬂ_ma @R IE x ==
m%ﬁmﬁmﬁﬂ?vmﬁ,ﬂ_,.

&H:S over)



(i

0

‘ i 12 }

ceoL4dK TR Q=8LiK7 =64

gind  equilibrium  income (7)),

consumption (C) and tax revenue (T)
from the following simple national

income model :
e f AW WOW SN WA o st

w (V), (51 W (C) &% 39 4192 (T) Py
Y=C+I, +G,
C=200+0-8 (Y -T)
T=50+0-3Y
Iy =500
Gy =400

Analyze the following market
i g model for

Wﬁmmwﬁcﬁmﬁwﬁm@rw

Qq =14-3p
Qs ""10+2P

dp 4(Qd Qs’

L
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